
⑥ 
1
2

(3x3x − 1) −
1
5

(2x2x − 3)

=
5(3x3x − 1) − 2(2x2x − 3)

1010

=
15x15x15x − 5 − 4x4x + 6

1010

=
9x9x + 1
1010

⑤ (45x45x45x2y − 27xy27xy27xy27xy) + 9xy9xy9xy

=
45x45x45x2y

9xy9xy9xy
−
27xy27xy27xy27xy

9xy9xy9xy

= 5x5x − 3

⑦ 





x + y = 3

3x3x − y = 5

①＋②　　　　　

4x4x = 8

x = 2

x = 2を①に代入　

2 + y = 3

y = 3 − 2

y = 1

(x , y) = ( 2 , 1 )

④ 28x28x28x2y + 7xy7xy7xy % 5y5y

=
28x28x28x2y % 5y5y

7xy7xy7xy

= 20xy20xy20xy20xy

③ (x + 3)(x − 3) − (x + 2)2

= x2 − 9 − (x2 + 4x4x + 4)

= x2 − 9 − x2 − 4x4x − 4

= x2 − x2 − 4x4x − 9 − 4

= −4x4x − 1313

② −3 % 7

= −2121

① −2 + 9

= 7
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⑥ 
1
3

(4x4x − 2) −
1
4

(3x3x − 1)

=
4(4x4x − 2) − 3(3x3x − 1)

1212

=
16x16x16x − 8 − 9x9x + 3

1212

=
7x7x − 5
1212

⑤ (36x36x36x2y − 18xy18xy18xy18xy) + 6xy6xy6xy

=
36x36x36x2y

6xy6xy6xy
−
18xy18xy18xy18xy

6xy6xy6xy

= 6x6x − 3

⑦ 





2x2x + y = 5

3x3x + y = 6

①－②　　　　　

−x = −1

x = 1

x = 1を①に代入　

2 % 1 + y = 5

2 + y = 5

y = 5 − 2

y = 3

(x , y) = ( 1 , 3 )

④ 48x48x48x2y + 6xy6xy6xy % 9y9y

=
48x48x48x2y % 9y9y

6xy6xy6xy

= 72xy72xy72xy72xy

③ (x + 8)(x − 2) − (x + 4)2

= x2 + 6x6x − 1616 − (x2 + 8x8x + 1616)

= x2 + 6x6x − 1616 − x2 − 8x8x − 1616

= x2 − x2 + 6x6x − 8x8x − 1616 − 1616

= −2x2x − 3232

② −2828 + 7

= −4

① −9 + 5

= −4
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